|) Order these numhbers in ascending order.
a) 1245 12345 12543 |12432

bh) 9647 9673 96526 9627

2) Which is greater?
Seventy six thousand, six hundred .and forty eight or 76,468.

3)Pu,t,anumbefm,t}wnw5/sjng/s,p,a,cebztow,tomkz,thz
Aentence correct.

L 236460 > 46236460
Ls there more than one possibility? If so, what .are they?

L) Put these numbers in descending .order.

3248 32482 32352 32489 32253
0.754 0.574 0.745 0.547 0.457 0.475
la. Use these digit cards to find three 1b. Use these digit cards to find three
possible answers, then order them from possible answers, then order them from
smallest to largest. largest to smallest.
?3@923 4B1|6|52|3
*  The number in the ten thouvsands *  The number in the ones column is half
column is one more than the number the number in the ten thouwsands
in the hundred thousands column. column.
The number in the ones column is an *  The number in the thovsands column
odd number less than 5. is even.
The number is between 1,000,000 and | * The number is between 1,000,000 and
1,800,000, 1,500,000,

Sally .orders the following numbers: 172,450 17,540 177,450
177,054, Explain the mistakes .and .any common .misconceptions.







